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Which are the algorithm based on add/subtract and
shift category:

(A) Restoring division

(B) Non-restoring division

(C) SRT division

(D) All of these

(E) None of these

A popular method knows as double-dabble method
also knows as :

(A) Divided-by-one method

(B) Divided-by-two method

(C) Both

(D) All of these

(E) None of these

Which method is used to convert a large decimal
number into its binary equivalent:

(A) Double dabble method

(B) Divided-by-two-method

(C) Both (A) and (B)

(D) All of these

(E) None of these

Which of the following statements is true?
Statements A: Notes pane allows you to add
information or speaker notes that you want to share
with the audience

Statements B: Slide sorter view is the only views that
is used in Power Point.

(A) Statement A is correct

(B) Statement B is correct

(C) Statement A and B are correct

(D) Neither statement A nor statement B is correct
(E) None of these

The capacity of floppy disk is 1.44 MB. That means,
you can store (approximately) in the
disk.

(A) 1.44 x 1024 bytes

(B)  1.44 x 1024 x 1024 bytes

(C) 1.44 x 1024 x 1024 x 1024 bytes

(D) 1.44 x 1024 x 1024 x 1024 x 1024 bytes

(E) None of these
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What does PCMIA stand for ?

(A) Portable Card Memory for Computers
International Association
(B) Personal  Computer  Multimedia  Card

International Association

(C) Personal Computer Memory Card International
Association

(D) Personal Card Memory of
International Association

(E) None of these

Computers

In a relationship map, you have a primary key in each

table. What is a primary key?

(A) A field that is the primary field in its own table,
but shows up in another table

(B) The second field in each table of a database

(C) The first field in each table of the database

(D) The last field in each table of the database

(E) None of these

Microsoft Access 2007 is a:

(A) Word processing software package

(B)  Slide show presentation software package

(C) Relational database management software
package

(D) Spread sheet software package

(E) None of these

Under Which group on the ribbon do you find the
given image. i -
(A) Clipboard _1, o Cut
(B) Editing -

(C) Paragraph Paste
(D) Text =
(E) None of these

<3 Copy
J Format Painter

10. What is the shortcut key to split a table?

(A) Ctrl + Alt + Enter
(B) Ctrl + Shift + Enter
(C) Alt + Shift + Enter
(D) Alt + Space + Enter
(E) None of these




